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Q.1 frafafEe saR g o 1 3
AZOM, CXQK, EVSI, ___
Ans A GTUG
X B.GUTG
X C.GTU
X D.FTTJ

Question ID : 9277594223 ]

Q2 D, C,B 3R ATH BT & ARI 3R TH-guX B 3T & B 8 &1 30 SET-3 T T
e, e, wran, ara uHe 81

(1) D BT I YHG B AT AR b A 967 2|
(2) ¢, e 1 Wig HA a1Q Afed F S e A ST R
(3) 98 aufaa o Fiar T URig 8 98 ATe 1 URig P ard fad & a1¢ 3R &
(4) A, B 19 337 ¢ Ford) dierm 397 Wi T 21
AT {5 e 87
Ans X A.B

X B.C
X C.A
& D.D

Question ID : 9277594233

Q.3 fu e fawedl & & 9 we AfYa a8e & w9 §1 gaite, @ e o fF $ g
T 81 39 faheu &1 9= B S 3 ¥ ST g

Ans X AR
X B.X
& C.K
X D.N

Question ID : 9277594222 ]
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Q.4 gfg us gur B 3T AB TR 3G STl 2, ) SR pfa § @ B @ 7€ ey ot 9
Tdur ofa 82

Ans

< B.

xc.

Question ID : 9277594237
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Q.5 gy H T By &g T €, forge a1e &) foreed 1 3w 1 3w e €1 eue) 39 Suel B a9
U 8, A 8 98 IWTad: 319 92 S fud wdid 811 smue! ag fHofg a8 % feg e
foremul & @ 19 a1, afe #9138, 9 Ry 1T Fy= A | SFER0 HRa1 8

DY
A<B2C>D;AZ2ZE=F<G
o

I.B>F
I.B=F

Ans X A fI5HY | SR 11 ST 3RO R §
& B. 1A fsmY | a7 11 SRR Rl §
X C. Fad Y 1| 3R T §
2 D. Bl FIepY | S8R0 BT §

Question ID : 9277594225 ]

Q.6 3Meg BLOKEISH ® ¥A fhaq 3igR  ford @ 7% 9igR Weg F UIRY A ST R 7
v f5 st qufarer & TRY A R &2

Ans X A TH
& B
X C.G9R
X D.dH

Question ID : 9277594231 ]

Q7 & ¢ fEen # g WS 6 HY:
53, 55,113, 343, ___
Ans X A. 1357
« B. 1377
X C.1367
2< D. 1387

Question ID : 9277594229

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode 1/1258021338/1258021338S3D123/16309041593591189/121203...  3/49



9/8/21, 4:10 PM https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258021338/1258021338S3D123/163090415...

Q.8 fufafaa 37 e ¥, Ay afikarst 1 ufaffia s 8, ga = ufar &1
wfafafiea wwar 8, 3 == &1 ufafafie $war 8 iR smaa agsal &1 ufafiRa svar 31
;&ﬁmﬁqmwmmmmm%ﬁmmm?ﬁﬁﬂwﬂﬁ

?

Ans # A C3IRG
X B.C3RD
2 C.G3MRI
X D.1,D,C3RB

Question ID : 9277594238 ]

Q.9 ¢ 7S e F HisH U7 T AT 2| 59 UPR 91 9§, gl & Fafetad # 9 o9 @
S faudia fo=m & grfie

Ans
XA

< C.

o D.

Question ID : 9277594239
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Ans

Q.10 & 7€ IR il A A, I rpla &1 au HY Rred wy snpfa sdafafea 21

< A

X B.

Question ID : 9277594235

Ans

Q.11 YA} A TP TR $I 12 Abs A UR Fedl @ R faudia fa=m & 7« 38 Yamst B &1 24

Jdhs T IR F<dt 31 e YaTEY B F} dars YaSt A B da1S | & [T § R IS B

P I 54 km/h B, @ YIS A B IAfA TG DY
7< A. 100 km/hr

«" B. 108 km/hr
X C. 75 km/hr
< D. 90 km/hr

Question ID : 9277594234
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Ans

Q.12 f3u T el # @ A9 v e aid S wuE ) graiie, U e o 9 3 e
T8 81 39 faheu &1 7= $¥ Y 3T | ST g

Question ID : 9277594236

Ans

Q.13 frmfafea vy i R e vig dH9-sidta T uR snuiid 31
283 395 768 534 187
e TS TSI | Ugd 3R gHR Si & WU &1 3MuN # sed fean wine, o Fafrea & @

PN g TR 7S T@= ghi?

o A. 283
X B.395
X C.534
X D.768

Question ID : 9277594230
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Q.14 Bg firx 3, gditdr, aw=, 9, Tad 3R Bew HEIfdeTerd &1 38 € | Toi+ Pad e
3R gltdT A 71 @ A Pad BPreE I DI 21 U1 Had BIow A Biel & MR Haa
3Tt 3R atdar A awa &1 7 d) iferer o BieT @ iR 7 g1 gdiar 9 oIt g1 8 fpam
firg & <Y S ) O WHH R I@d 872

Ans A2

X B.1
X cC.3

X D.4

Question ID : 9277594226

Q.15 U yeeE Uiig & 9 & g wrids frafifea &1
Infiear @i -

a - et oft o & =gy 72% SihY & 1Y ATa® B

b - 21 99 A FH 3N 25 a9 A 3P P Mg & T TR

¢ - <IAH 70% 3T & ATy frf@a wdien iR A1emes R ure faan g

%;;o,ooogwaﬁmmmwwﬁ$mmaﬁhwﬁr&mwﬁﬁwm
ST &I

graie, afe SwWiad Tt wrds Tqp 7, Ram -

I- SURIT (a) F, BT AW 65% DT F WY WIS IR R fHar €, arar e o)

Tefifa forar smam)

II - SURI (d) H, AP 39 &7 § v aif J 34 TUg a% HTH H1 &7 31 7, AT

EUP P Al fbar s wwar 21

G A T PR TEITad [ 74% 3wl & a1y BBA fbar 8 iR frf@a uftem ok

HILTHR T IAP 3F 75% 81 IAP! MY 25 99 g AR IV 39 AT A 2 af BT 3qUa 81 9%

50,000 FUYT H1 ST I BT YITATH B B IR et 81

Ans X A IficaR &1 9o far mar g
X B. Suficar &I e & Gefifd fvar mr gl
& C. SHCaR &l yaus &1 Teiid frar T gl
7 D. Sufiear &1 9o el fbar T B

Question ID : 9277594227

Q.16 I fIeheq HT 99 H¥ oY IR U A I THR A Walid @ o ydR | g3 ue Ugd U
A weftra 21

65:74::40:?
Ans X A 48
o B.49
/< C.50
2 D.51

Question ID : 9277594220

Q.17 f3u ¢ fawent # | A9 v Afya a8iF I JuE 1 g, e e o fiF &Y ave
T8 21 39 fo ey &1 999 & Sl 3= 9 e 2|

Ans A SIS
X B. F@a
X c.am
X D. i

Question ID : 9277594221
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Q.18

Ans

I e U SR Uy BT IR S|

A+BHT ISR A, BPIHEI
A-BHT A 'A, BBTHE

AxBHT IS A, BT UAT
A+BHTAZ A B AT,
ffaff A —B +C xD+EH C, EQ HY Jafid g2

XA far
2 B. Tl
X C.uE
o D. U

Question ID : 9277594232

Q.19

& 1S siEar § Terd Ug [ B

111, 100, 87, 71, 55, 36

Ans

Ans X A 87
X B.36
X C.55
& D.71
Question ID : 9277594224
Q.20 us yfafya Afére ufag fadr & 3= sremus & o s=ghy & forg Aurdt ot &1 799

P o1 38T © Wi Fuferf@d Ards! & @R 74 8:

1. 3T - 1.7.2021 BI 18 Y | P AfP 24 a8 | T9
2. WP H| BT GATH Y= - 70%
3. FAM/REPR - GaH e, are-are a1 @ase # IT60 TR R T4H REDPR WIS 8141

I
4. afe urfyaTiie oma - 2,50,000 FUT F 4fRF L1

5. AT - 1.7.2021 9% frod 18 au a1 I offtres & forg wRa # ve1 g Wnfee
graites, afe Sufiqar SwRidw Wt ardst ®1 qR1 H=al 8, e

1. (3), AfFT 50 TR R FAderare-fyareaa ufamfrar § gavT R ure far 8- arer
ufas™ & Tfua & Wl faear s gear g1

2. (4)%%%1’4'90% 3 T f5a1 2 - AT Ufag & Sieasf o) Tefdid fpar o
qPpar gl

et Frafifad uy # Swfigar & 1T UgM 31 15 TFHR BT 31h= $A1 § R
PIATE BT HH a9 HIAT

fRRTT St 1.1.2021 B 23 T9 BT R, ST 92% 3ih| & HIY B.Com. I fhar g1 ST
fUdT, TP TP FHARY, 1989 T el # o+ 2 8, e adwm= wifdre ema 30,000
IUT g1 34 ey ufeaifivar # fRRAT @) 191 e fen

o A. STHIGAR &1 el &I Hafid fvar T g |
X B. I#ficaR &I 9iua &) efiid fbar mar g1
X C. 3ufiqar &1 99 fear T g |

X D. Sufigar &1 997 6l far m g1

Question ID : 9277594228
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Q1 IgRe 71A Fm A WdRE 8:
Ans X' A Tg UTaY Bl § b IPUT T STRIPU & 19 ¥ S0 &1 aral faaral &1 Fofa fora
Ty gR1 fobar s
X B. T UG S § b AFUFT A1 SIIFUT & gA1G ¥ = g4 aTdl faara) 1 Fofa I
TS gIRT fera S |
o C. U8 UIaU 1 § fob IRl a1 SRIFUT & g1 ¥ I= g1 arel faara) 1 o
IAdH I R ferdm S|

< D. g WAy &l § b APUf 1 SWRIPURI & 19 ¥ S & ardl faaral &1 fofa gma
SR gRT fobaT STeeT|

Question ID : 9277594245 ]

Q.2 gra & # (WS 2021 ®) ToRTd A I AT IhaTd AT UT?
Ans XA-W

o B. I8

X C.uaA

X D.®R

Question ID : 9277594240

Q.3 QEMNTRY BTed REBR g &= 7 far srar 82
Ans ‘pA_ﬁﬂm

X B.9fgd

Xocoua

X D. wifd

Question ID : 9277594249 ]

Q.4 T 3R E=a T 82

Ans o A TR &1 37 § HEE.IET | g 31 2 el a8 gL s algT,
X B. Eg v & <1 vgw@ wue™
X C. U g5 & < sl & 9
% D. TETe 95 & SHI gRI [o1Rad g & 411

Question ID : 9277594242 ]

Q.5 Which is the hottest planet in the solar system?
Ans X A. Uranus

" B. Venus
5 C. Neptune
< D. Mars

Question ID : 9277594250 ]
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Q.6 FIAM H (2021 9F), ABGHT F e B 82
Ans X A HRTHUR

X B. g wgTeHl

X C. gl

o D. A fagan

Question ID : 9277594244

Q.7 o et BT YA B ol HERTY A AT B
Ans X A R

X B.fag

& C.qraufl

X D.3Y®

Question ID : 9277594248

Q.8 I |1 a1 e 2
Ans X A HIHHIS

o B.IP

X c.wel

X D. U™

Question ID : 9277594256

Q9 ffrgus U@ ds 3 § St == | for Wrom & feran wan gk
Ans X A fgdl

' B. I%pd

X C. 3fsh

X D.3g

Question ID : 9277594243

Q.10 3ffe Fdaror 2020-21 1 fawg a1 82
Ans o A SIS SR SrelifaesT ST

X B. "Rt M
X C. FI9R & HAT, W-fs e &1 dgrar
< D. urHior faer d oy Rren

Question ID : 9277594252

Q.1 AU A (3R 2021 %), YR Rerd 9 & IsquTed S 82
Ans X A 3ffdued

2% B. TR IASH

X C. 3. & T

& D. 9! fodepid e

Question ID : 9277594258
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Q.12 fieEr Rig Te YR 36 R Wics fBieR A R 59 719 & WY =7 wirar T
Ans A RIS R

X B. T BIER wET @

X C. 3w

X D.cwRR RE

Question ID : 9277594246

Q.13 gdHE # (2021 9F), TY AP AT TN & e DI 82
Ans X A fog fima

X B. 3Rfde g

< C. guirdT dgar

& D. 1. (ST Uciy HaR oi=ht

Question ID : 9277594259

Q.14 Hag f5w I w1 gy da 2
Ans  p A SRECE

< B. Ul

X C.wrd

X D.¥¥

Question ID : 9277594247

Q.15 yferva Fi fE F3 B a3
Ans g A TTH G UIAET

< B. 3Gl BT AT At AT
7< C. TRR & 35d SIRIH137 H7 SoifgR
X D. TR H RIS BT ER SQI

Question ID : 9277594254

Q.16 YTIEIdRT 31 3 ATH BT 99 BY:
Ans o A URd

X B. STeid

X C. sfifegar

% D. aid=

Question ID : 9277594251
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Q.17 DRDO §RT fAwRia T&-wifds g1 &1 ?:
Ans X A 2-SRHTRT (2-D)

o B. 2-SIHIRA-D-TD I (2-DG)

X C. 3-SHRA-D-IHS (2-DG)

X D. 1-SIHRA-D-IHS (2-DG)

Question ID : 9277594241
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Q.18 HYT 1Y HY F fa wrr §2
Ans X' A FId

X B. 36

o C. 3%

X D.dH

Question ID : 9277594257

Q.19 FEfifEd & @ S19-91 e dgex wfrd @eex o) AT T8 82
Ans X A T BRRARA

X B. HaRar

X C.STgER

o D. 3IAT ARy

Question ID : 9277594255

Q.20 s 9gd o &M fIea= (3= pH) Y YHeR YT gheX b I BT T g&d S|
Ans X A TcTE d BTl

o B. @ ¥ ST

X C. I

< D. ST ¥ ditem

Question ID : 9277594253

Section : Arithmetic Ability

Q.1 Feetpd B
(0.023x0.023x0.023+0.017x0.017x0.017)/(0.023x0.023-0.023x0.017+0.017x0.017)

Ans o A.0.04
/< B.0.044
/< C.0.004
X D.04

Question ID : 9277594261

Q.2 3fePpied 3R U & 8L bie A Sreplgd BT UFA<Id 13% g1 Ui et & 2L urft i &=
fear Se o e § Srewigd Bt AT BT 14T Ufa=rd fhd=m gRm?

Ans X A .9.0%
« B.10.4%
% C.10.0%
< D. 11.0%

Question ID : 9277594267
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Q.3 71w fift et & S<dhf ufawra @) oxifar 21 fra faenaa &1 vesf Ted SR 82

feremrera g1 Fen ve=

Vil

mPmQ =R

60%

vin

Ans X A P3RQ

Question ID : 9277594279

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258021338/1258021338S3D123/163090415...

Q.4 qrfre fRAfi 0l | SMieT o1 a1 3R INg B B guidl 8| SEaTuTe ST B

HIHS HT 3?2
a4 2010 2011 2012
T TG g G SEaTITE CIECE] SrEaTITe
A 3147 196 1554 208 2875 231
B 1618 153 558 180 2109 256
C 3992 167 4410 183 3837 255
) 3730 190 3278 210 1762 28
E 2403 179 3261 n 2550 260
Ans X A.190
X B.183
o C. 196
X D.208

Question ID : 9277594278

Ans 7 A 8400 30T
7< B. 4800 ¥UY
7< C. 4000 ¥T
< D. 8000 3T

Q5 T Afed Gt TeT W 16% Bt FE 3T 81 T & 1G I 9408 FUY WX 12% PT A1 Sifofa
HA1 8 | TN YT T 872

Question ID : 9277594272
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Q.6 TH TR 5.5 m FHet 3R 6.5 m NS 21 fUPan TR F T P I F1 € &l AR B
It ATHR F SRS A gh1 & AT mawa® 82

Ans X A 144

o B.143

X C.134

2 D.133

Question ID : 9277594263

Q.7 15 49 F dI U HSAT3MT BT SN T 82
Ans o A.31.89

X B.31
< C.31.98
7< D. 30.89

Question ID : 9277594270 ]

Q.8 P 3R Q Pl fIo™ &1 H1H 6 {4 § BT FPbd 21 Q 3R R I Sl fov™ & S &I
8 f& # H= Td € Safe R 3R P IH Freii= fos™ & H1H FI 10 A § 2 P4 &
gfe 3 Tt U AU BTH B df I [Pa1 IHT T2

Ans g A 240/47 &
X B. 240/49 f&71
< C. 240/48 fa
X D.241/47 faq

Question ID : 9277594276 ]

Q.9 97 gAaH HE F41 § o quf v9 99 & frg 1536 ¥ Tqom fsan s anfye?
Ans X A7

X B.10

Xc.s

& D.9

Question ID : 9277594260 ]

Q.10 YW 47 WIHfae TS BT Siird 71 32
Ans X A4
XB.2

X C.42
& D.24

Question ID : 9277594269
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Q.11 TH B& 17m T, 12m ST 3N 10m A1 31 3 F& A 7@ o IHA a0 @™ P Adarg
forait gift?
Ans o A 23.09m

2 B.239m
X C.23m
X D.24m

Question ID : 9277594275

Q.12 g =TT 3:7 & JUTa A § | 979 g1 TEmeit o 12 wirs far siran @ &t sruTd 9:17 g S
e 1
Ans X A. 42,65

X B.56,24
o C. 24,56
X D. 24,65

Question ID : 9277594266 ]

Q.13 I, T 3R RS T Wert A §1 38 9¥ & 1T 531000 FUT &7 @1 g34TI IAPT Yoit
1/2:1/5:1/7 & 3T A § 1 a9 BT fFwan & 32

Ans X A 125000 ¥TT
« B. 126000 IUT
7< C. 315000 ¥UT
2< D. 90000 ¥UT

Question ID : 9277594265 ]

Q.14 gferT 3 IR HT 200m F g J T@T| TR FOrT 7R A YN 98 9 km/h § 3R GRIT 11 km/h
3 Ifa & Wl R 9R & TeS SUY Ugd AR &t fbert g¥ ST g

Ans X A.800m
7 B.890 m
& C.900m
2 D. 990 m

Question ID : 9277594277

Q.15 U feRT BT Ad9 TR & BT W 8% A HTeT 74T 8 | fhr AW BT 15% T SuAIRIarsi w
=g a1 74T § 3R 2 BT 20% fafay iR =i @) e W oo fovar war @1 3999 91,
I TAd 988448 TUT & | TR BT Gal Ja4 T 82

Ans A 1580000 3T
< B. 185000 ¥UT
2< C. 158000 ¥UT
2< D. 1850000 ¥UT

Question ID : 9277594268
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Ans

X A. 35330
< B. 351 30T
o C. 352.08 ¥UY
2 D.35230T

Q.16 %sgoom%ﬁﬁaww%aﬂwaﬁﬂz%aﬁ?s%aﬁa‘ra’ﬁﬁaﬁ%aﬁammm
?

Question ID : 9277594273

Ans

Q.17 T HTER & U 20000 FUT eI & Tg & IUIG & | STH F 1/4 DY 14% ATH W ST

STaT 3 1 A9 B fran ufirra ary uR 391 1 AR arfes o a1 16.5% g2
X A.170%

« B.17.33%
< C.16.0%
% D.15.0%

Question ID : 9277594271

Ans

Q.18 TfE 7x/(1+1/(1-x/(14x))) = 2 A x T T HT 82

X A.5/4

X B.4
X C.5
& D.4/5

Question ID : 9277594262

Ans

? ok 3raft 3 af B 1 Twrqfs sar 7 32
< A. 483240.79 3T
 B.483204.79 34T
7 C. 483402.79 ¥UT
7 D. 483420.79 3T

Q.19 =7 &R ufe 9 14% & o srdfaritfer U & ashgfes v =i 381 81 U=RIRY 965000 FUY

Question ID : 9277594274

Ans

T I HIYHH $| G891 872
A 43 cm

< B.44cm
5 C.2cm
o D.34cm

Q.20 §8cm, 102cm 3R 136cm ATY Ft Yer13ff ara Fi7 wHaTg Hysh #), Td® T J 9rva I

Question ID : 9277594264
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Ans

Q.1 Four words are given, out of which only one word is spelt correctly. Choose the
correctly spelt word.

< A.LIASION
#< B.LAISON
#< C. LAISCION
" D. LIAISON

Question ID : 9277594288 ]

Ans

Q.2 Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully. Select the option 'no correction
required’ if the sentence is correct as given.

Even though (he do not realize it, he) was responsible for his own problems.

#< A. he don't realize it, he
#5< B. he don't realizes it, he
« C. hedidn't realize it, he

< D. No correction required.

Question ID : 9277594283

Ans

Q.3 The sentences below are not complete. There are four options for each question.
Choose the best word to complete the sentence.

In the , completing a marathon makes us happier than eating a chocolate pie.

25 A. long duration
< B. fast running
25 C. fastest run
" D.long run

Question ID : 9277594285 ]

Ans

Q.4 The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option ‘No Error'.

This phenomena made its appearance / even during the short lived period of / the
Soviet republic in Bavaria.

#< A. even during the short lived period of
#5 B. the Soviet republic in Bavaria.
" C. This phenomena made its appearance

< D. No Error

Question ID : 9277594280
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Q.5 The question below consist of a set of labelled sentences. Out of four options given,
select the most logical order of the sentences which form a paragraph.

Pangaea or Pangea is derived from Ancient Greek pan meaning "all, entire, whole" and
Gaia "Mother Earth, land").

P. It was a supercontinent that existed during the late Palaeozoic and early Mesozoic
eras.

Q. Pangaea is the most recent supercontinent to have existed and the first to be
reconstructed by geologists.

R. It assembled from earlier continental units approximately 335 million years ago, and
began to break apart about 175 million years ago.

S. In contrast to the present Earth and its distribution of continental mass, Pangaea
was centred on the Equator and surrounded by the superocean Panthalassa.

The forming of supercontinents and their breaking up appears to have been cyclical
through Earth's history.

Ans X A QPSR
< B.RSPQ
X C.SPRQ
& D. PRSQ

Question ID : 9277594287

Q.6 The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option ‘No Error'.

But intellectual madness would have / resulted from a development that followed / the
acceptance of it's own kind of art.

Ans X A. resulted from a development that followed
#< B. But intellectual madness would have

" C. the acceptance of it's own kind of art.

25 D. No Error
Question ID : 9277594281 ]
= == = ==
Q.7 Select the most appropriate meaning of the given idiom.
Burn your bridges
Ans X A. To destroy confidential information.
" B. To destroy a bridge or path behind oneself.
#5 C. Overcome your emotions and move on in life.
#5 D. To destroy your enemies.
Question ID : 9277594293 ]
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Q.8 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to form
a meaningful and grammatically correct sentence.
Photosynthesis is a process
P. convert light energy into chemical energy that,
Q. can later be released to fuel the
R. used by plants and other organisms to

S. through cellular respiration,

organism's metabolic activities.
Ans X A QSRP

< B.PQRS
« C.RPSQ
< D. SRQP

Question ID : 9277594286

Q.9 Select the word that is similar in meaning (SYNONYM) to the word given below.

RAPACIOUSNESS
Ans * A. VORACIOUSNESS

/5 B. PROFUSION
#< C. BENEFICENCE
#< D. MUNIFICENCE

Question ID : 9277594290

Q.10 Select the word that is opposite in meaning (ANTONYM) to the word given below.

GRATIFYING
Ans X A.DELIGHTFUL

< B. EVENTFUL
#< C. PLEASANT
«" D. DREARY

Question ID : 9277594291

Q.11 Select the most appropriate meaning of the given proverb.

The rats are leaving the sinking ship.
Ans X A. You shouldn’t be too sure of something, even if the prospect is good.

< B. Don’t expect a good event to happen before it has actually happened.
< C. In an emergency you do things that you would not otherwise do.

" D. Turning away from failing or fleeing from an unpleasant situation.

Question ID : 9277594294
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Q.12 Select the word that is similar in meaning (SYNONYM) to the word given below.
GRUDGE
Ans # A MALICE
< B. RAPPORT
#< C. CONCORD
# D. COMMUNION

Question ID : 9277594289 ]

Q.13 Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully. Select the option 'no correction
required’ if the sentence is correct as given.

She settles into the cockpit, (surrounding with dozen of complicating switches and
sophisticated gauges,) sitting atop a massive $84 million piece of machinery.

Ans  # A. surrounded by dozens of complicated switches and sophisticated gauges,
< B. surrounding with dozens of complicating switch and sophisticating gauges
< C. No correction required.

#< D. surrounded around dozens of complicated switches and sophisticated gauges,

Question ID : 9277594282 ]

Q.14 Fill in the blank with the most appropriate choice.
Still another symptom has to be considered.
Ans o A critical
#< B. tuberous
< C. violent
5 D. overwhelming

Question ID : 9277594284 ]

== = == 02 == ==
Q.15 Select the most appropriate meaning for the word given below.

Axiom
Ans X A. Denoting a sin that is not regarded as depriving the soul of divine grace.

< B. A position requiring little or no work but giving the holder status or financial benefit.
< C. The action or offence of speaking sacrilegiously about God or sacred things.

«" D. A statement or proposition on which an abstractly defined structure is based.

Question ID : 9277594292 ]
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Q.16

Ans

Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

Bohemianism is the practice of an unconventional lifestyle, often in the company of like-
minded people and with few permanent ties. It involves musical, artistic, literary, or spiritual
pursuits. In this context, bohemians may be wanderers, adventurers, or vagabonds. This use
of the word in the English language was imported from French in the mid 19th century and
was used to describe the non-traditional lifestyles of artists, writers, journalists, musicians,
and actors in major European cities. Bohemians were associated with unorthodox or anti-
establishment political or social viewpoints, which often were expressed through free love,
frugality, and—in some cases—simple living, van-dwelling or voluntary poverty. A more
economically privileged, wealthy, or even aristocratic bohemian circle is sometimes referred to
as haute boheme (literally "high Bohemia").

The term bohemianism emerged in France in the early 19th century, when artists and creators
began to concentrate in the lower-rent, lower class, Romani neighbourhoods. Bohemian was
a common term for the Romani people of France, who were mistakenly thought to have
reached France in the 15th century via Bohemia (the western part of modern Czech
Republic). Bohemianism and its adjective bohemian in this specific context are not connected
to the native inhabitants of this region.

SubQuestion No : 16

On the basis of your reading of the above passage, what is the meaning of van-
dwelling'?

2 A. Rich people travelling in caravan.
< B. Nomadic lifestyle
2 C. People who are not stationed at one location.

" D. Van converted to home, people live in the van and travel around.

Question ID : 9277594300

Q.17
Ans

Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

Bohemianism is the practice of an unconventional lifestyle, often in the company of like-
minded people and with few permanent ties. Itinvolves musical, artistic, literary, or spiritual
pursuits. In this context, bohemians may be wanderers, adventurers, or vagabonds. This use
of the word in the English language was imported from French in the mid 19th century and
was used to describe the non-traditional lifestyles of artists, writers, journalists, musicians,
and actors in major European cities. Bohemians were associated with unorthodox or anti-
establishment political or social viewpoints, which often were expressed through free love,
frugality, and—in some cases—simple living, van-dwelling or voluntary poverty. A more
economically privileged, wealthy, or even aristocratic bohemian circle is sometimes referred to
as haute bohéme (literally "high Bohemia").

The term bohemianism emerged in France in the early 19th century, when artists and creators
began to concentrate in the lower-rent, lower class, Romani neighbourhoods. Bohemian was
a common term for the Romani people of France, who were mistakenly thought to have
reached France in the 15th century via Bohemia (the western part of modern Czech
Republic). Bohemianism and its adjective bohemian in this specific context are not connected
to the native inhabitants of this region.

SubQuestion No : 17

According to the passage, which of the following options define bohemianism aptly?

«" A. Journeying
< B. Extravagant
< C. Gratification
25 D. Leisure

Question ID : 9277594297
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Q.18

Ans

Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

Bohemianism is the practice of an unconventional lifestyle, often in the company of like-
minded people and with few permanent ties. It involves musical, artistic, literary, or spiritual
pursuits. In this context, bohemians may be wanderers, adventurers, or vagabonds. This use
of the word in the English language was imported from French in the mid 19th century and
was used to describe the non-traditional lifestyles of artists, writers, journalists, musicians,
and actors in major European cities. Bohemians were associated with unorthodox or anti-
establishment political or social viewpoints, which often were expressed through free love,
frugality, and—in some cases—simple living, van-dwelling or voluntary poverty. A more
economically privileged, wealthy, or even aristocratic bohemian circle is sometimes referred to
as haute boheme (literally "high Bohemia").

The term bohemianism emerged in France in the early 19th century, when artists and creators
began to concentrate in the lower-rent, lower class, Romani neighbourhoods. Bohemian was
a common term for the Romani people of France, who were mistakenly thought to have
reached France in the 15th century via Bohemia (the western part of modern Czech
Republic). Bohemianism and its adjective bohemian in this specific context are not connected
to the native inhabitants of this region.

SubQuestion No : 18

Three assertions are given below (A, B & C) on the basis of your understanding of the
passage, which one of the options is incorrect?

A. Bohemians were unorthodox but had strongly supported political and social
viewpoints.

B. Bohemian was a common term for the Romani people of France.

C. Some of the Bohemian people choose to live a life of poverty despite being wealthy.
2 A. Cis correct.

" B. Ais correct.
< C. Bis correct.
< D. B & C are correct.

Question ID

1 9277594299
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Q.19

Ans

Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

Bohemianism is the practice of an unconventional lifestyle, often in the company of like-
minded people and with few permanent ties. It involves musical, artistic, literary, or spiritual
pursuits. In this context, bohemians may be wanderers, adventurers, or vagabonds. This use
of the word in the English language was imported from French in the mid 19th century and
was used to describe the non-traditional lifestyles of artists, writers, journalists, musicians,
and actors in major European cities. Bohemians were associated with unorthodox or anti-
establishment political or social viewpoints, which often were expressed through free love,
frugality, and—in some cases—simple living, van-dwelling or voluntary poverty. A more
economically privileged, wealthy, or even aristocratic bohemian circle is sometimes referred to
as haute boheme (literally "high Bohemia").

The term bohemianism emerged in France in the early 19th century, when artists and creators
began to concentrate in the lower-rent, lower class, Romani neighbourhoods. Bohemian was
a common term for the Romani people of France, who were mistakenly thought to have
reached France in the 15th century via Bohemia (the western part of modern Czech
Republic). Bohemianism and its adjective bohemian in this specific context are not connected
to the native inhabitants of this region.

SubQuestion No : 19

According to the passage, what would mean the opposite of ‘'economically privileged'
from the given options?

« A. Destitute
< B. Superior
< C. Sceptical
2 D. Affluent

Question ID

1 9277594296
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives.

Bohemianism is the practice of an unconventional lifestyle, often in the company of like-
minded people and with few permanent ties. It involves musical, artistic, literary, or spiritual
pursuits. In this context, bohemians may be wanderers, adventurers, or vagabonds. This use
of the word in the English language was imported from French in the mid 19th century and
was used to describe the non-traditional lifestyles of artists, writers, journalists, musicians,
and actors in major European cities. Bohemians were associated with unorthodox or anti-
establishment political or social viewpoints, which often were expressed through free love,
frugality, and—in some cases—simple living, van-dwelling or voluntary poverty. A more
economically privileged, wealthy, or even aristocratic bohemian circle is sometimes referred to
as haute boheme (literally "high Bohemia").

The term bohemianism emerged in France in the early 19th century, when artists and creators
began to concentrate in the lower-rent, lower class, Romani neighbourhoods. Bohemian was
a common term for the Romani people of France, who were mistakenly thought to have
reached France in the 15th century via Bohemia (the western part of modern Czech
Republic). Bohemianism and its adjective bohemian in this specific context are not connected
to the native inhabitants of this region.
SubQuestion No : 20

Q.20 Three assertions are given below (A, B & C) on the basis of your understanding of the
passage, which one of the options is correct?

A. The use of the word bohemians as wanderers was imported in the English language
from French in the mid 19th century.

B. Haute bohéme means rich Bohemian people.

C. Bohemianism was started in the 15th century by the native inhabitants of Bohemia
in France.

Ans X A.Band C are correct.
< B. Only A is correct.
«# C. Cisincorrect.
< D. Only B is correct.

Question ID : 9277594298

Q1 fFafaf@auy & TR faeen & A 39 fawer &1 997 o¢ o) fou e dieife o198t o gt
|

Fag RIS g1 7 STM=
Ans X A U ImYW § fht & el et U §d
X B. B3 30 AT $I WIS Te Hadl
< C. 9gd Hic- IRYH BT AT ary
o D. G¥ 301 g el Blsel

Question ID : 9277594315
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fapeu g |

I8 I Tte U, 3fi 98 TR T |
Ans X A T3y 9= ad

X B. [f%a g

o C. Igad a1

X D. WA a1

Question ID : 9277594310

Q.3 fufed uy § IR faeeul § 3 39 fawey &1 997 39 S 738 7Y IR 2reg &1 ) 4 -
e w1 fawe 8|

SeHTe =

Ans  # A 3+ HleT
5 B. 3d+ dled
< C. 3 +¥ed
#< D. Ja+ e

Question ID : 9277594304

Q4 ?ﬁ%@auaﬁ,mﬁwﬁﬁ%wﬁmmmﬁﬁﬁﬁﬁwwmwmw
|

Qs

Ans X' A Y
X B.d®
25 C.9|dn
o D. TR

Question ID : 9277594301

Q5 fofafaduy & IR e & @ 39 fdee &1 Jga ®% s fod e I - f=de 2res &1
Tt I &1 fapeu 81 |
31 +311 =
Ans X A 8[d
o B. 3
X C.3rEd
X D. 3o

Question ID : 9277594303
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Question ID : 9277594313
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Question ID : 9277594305
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Ans X A UL
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Question ID : 9277594306

Q9 fufafEd uy # IR faweul § A 39 fawey &1 997 33 S {28 ¢ 919y & &1d Ve BT
GRACET A

AfwT =<t 7§ gt |
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X C. 3qul gIHH et

o D. I YddbTd

Question ID : 9277594309

Q.10 ﬁaﬁﬂgawﬁ,wﬁmﬁﬁwﬁmmmﬁvﬁﬁ?mﬁggﬁmww
fapeud |
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Question ID : 9277594312
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Question ID : 9277594307
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Ans X A degnf
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X C. Pz
< D. Gopard

Question ID : 9277594311

Q.13 g?@auaﬁ,wﬁmﬁﬁwﬁmmwﬁﬁﬁqumwﬁmﬁ
I
AR -
Ans 2 A BN
X B.HIYd
o C.S5di®
X D.7Y

Question ID : 9277594308
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o D. IEd

Question ID : 9277594302
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Q.16

Ans

Comprehension:

Frr fow T T &Y egFYd U SR YD T U BT gaaH IR G |

3T BT DY MY & BT WIacis Healdl g| STAD o J 81 FHTAT 7, 30 ol B T
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HEANdI §| Waas! ST ANRG T BT HEH 0T §| Wiadad S0 T 07 5| e 2 b U
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a7 foTT I UT 311T| S8 WTYROT A H SWHR Y § Foll TH 93T 3R Sall, “BRT THH &
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SubQuestion No : 16

3D F TR WIaera b1 1 A g 2
XA TR D TETIT § U] HTH HIAT
o B. 307 BT &Y 31U 31T HAT
< C. TRI W {qdifed g1
X D. GRI & 30+ WR 3fadifad T@-T

Question ID : 9277594317

Ans

Comprehension:

Fr fou T TEr HY ergde Ug SR U U sl T gaad SR g |
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PR o] WS G ARG BT HTH 0T 5| TGS TS BT 01 8| Pad g [ TP fad
TRtg figH $aReE REmR Y8 ©¥F & a16e @ ) au Wik I 0o i 814 | T Sier
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T A A S, ToIgd) TN AR TH ST HTH W TN HR Febl, THM A FFOR Horad] B3
& 3" afod AT gt TT I I8 UaT 91 b S Pell S BT Uik (961 & dff 98 S
Uig o R US1 I 301 1 314 B 1 AR |

SubQuestion No : 17

Q17 Jgde ¥ fog Sfua e e |

o A Wacs T 98 0
X B. A UH 9 0T

< C. 3{qdeH B aIHal
X D. Wade T 4§ 07

Question ID : 9277594321
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Comprehension:

Frr fow T T &Y egFYd U SR YD T U BT gaaH IR G |

3T BT DY MY & BT WIacis Healdl g| STAD o J 81 FHTAT 7, 30 ol B T
Wm%m@ﬁwuﬁﬁwﬁﬂmﬁ%ﬁﬁ@ﬁﬁ 3T H T HR, < 98 Wt
HEANdI §| Waas! ST ANRG T BT HEH 0T §| Wiadad S0 T 07 5| e 2 b U
TRrg g SaRes REmR Y8 ©¥F & TR @2 ) it Wik ¥ 06 oafad 81U | OF srer
a7 foTT I UT 311T| S8 WTYROT A H SWHR Y § Foll TH 93T 3R Sall, “BRT THH &
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SubQuestion No : 18
Q.18 Ye7d WA & FT6Y $4¥9% AUNER o dmmywmd ws 4 2
Ans X A W A A0 & FUH
«” B. 3d WIYRY Y fd@ arel ekt ot d2rywn #
X C. 9w U4 fiférd safed o1 ayen o

X D. Tl B a=ywT H

Question ID : 9277594318 ]

Comprehension:

Fr fou T TEr HY ergde Ug SR U U sl T gaad SR g |

3 BT B 3TY & HRAT WIaais- Heldl g| ST oid J 81 JHIAT 8, 394 ol S Wz
mﬁm%m@ﬂwuﬁﬁwsﬁaﬂﬁ%@tﬁ@ﬁﬁmmmaﬁ GICGERSIESE
PR o] WS G ARG BT HTH 0T 5| TGS TS BT 01 8| Pad g [ TP fad
TRtg figH $aReE REmR Y8 ©¥F & a16e @ ) au Wik I 0o i 814 | T Sier
a1 fo ST UTT 37| I8 YR A H SABR YT ° H&it JHY o7 3R SIer, “BRT I o
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SubQuestion No : 19
Q.19 39 | BT Wiaas] 1 fIaid A @ 2
Ans o A TRIARI

< B. AR
X C.@g
X D. @B

Question ID : 9277594320
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Comprehension:

1 3w 7T et Y eyd® U IR U T uelf o1 Wt S g |

3T BT DY MY & BT WIacis Healdl g| STAD o J 81 FHTAT 7, 30 ol B T
R T B S YR e A St ot ol off Rufey & st svrel Tl e, I rareialt
FHEAIdT §| Wiads! 11 ARTRG AT BT 7 01 3| Wade S8W &1 0 8] Fed & 1o U &
RIS fagH SaRTs AR Yad WHF & aeR @ 3| avft Hiar @t 3afad g1y 8 U Sier At
a1 fo ST UT 17| I8 YR I F SABR YT T Hit JHY ST AR ST, “BRT I o
TN %Wﬁmgmaﬁmwwaaﬁma&uwuﬁwwaaﬁmﬁ
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SubQuestion No : 20
Q.20 $aRei% TR & YW 98 Ao 954 aferd ol g ?
Ans A IT SRS FOEITR &1 it gae forar ot
7< B. Tid! 3T U1 S W foram o1
X C. ISP Ueg FHIA ardl A U1 A I T R fe
X D. T ITHT B fordt 3R 3 fapar

Question ID : 9277594319

Section : Discipline1

Q.1 A polynomial with real coefficients of n degree has roots ?

Ans X A. nimaginary roots
" B. n (may be real or imaginary)
5 C.n-1roots
25 D. n real roots

Question ID : 9277594333

_— == == =
Q.2 Find the gradient of the scalar field if f(x,y)=x+y at (1,2)?

Ans X A i
o B. it
X C.i+2]
X D. j+2i

Question ID : 9277594330

Q.3 2587322568103 UH &I ¢ Wl oy T=wm A faursy 82
Ans X A.2

X B. 11
W C.7
X D.9

Question ID : 9277594336
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Q.4 What is the volume of curve between the ordinate 0 to 4 around the curve x=y?
Ans X A.31.33

X B.31m
X Cc.21m
o D.21.331

Question ID : 9277594327

Q.5 Which of the following property doesn't hold?
Ans X A [x]=xif x is an integer

< B. [-x]=-[x]-1 if x is an integer
o C. [-x]=[x] if x is an integer
< D. [x+y]>[x]+[y]

Question ID : 9277594322

Q.6 What will be the rank of every non singular matrix of order n?
Ans # An

X B.2n
< C.2n+1
25 D.n+1

Question ID : 9277594340

Q.7 For any matrix to be in row reduced form which of the following conditions is not
satisfied?

Ans X A. Any row if has zero is at the bottom
< B. any leading entry is one
25 C. Each leading one is to the right of one preceding row

«” D. zero row is at the top of thel matrix

Question ID : 9277594339

Q.8 What is the curved surface area of cone in general form?
Ans o A Trrl

25 B. TIr(r+l)
5 C.mrh
25 D. mrrhl

Question ID : 9277594328

Q.9 Euler function tends to infinity if which condition follows?
Ans  # A.ntends to infinity

25 B. n tends to a negative limit
< C. ntends to zero

2% D. n tends to a positive limit

Question ID : 9277594337

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258021338/1258021338S3D123/16309041593591189/12120...

31/49



9/8/21, 4:10 PM

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258021338/1258021338S3D123/163090415...

Ans

Q.10 The curve given by xy=15 is symmetrical about what?

XAy axis

2 B. x axis

«” C. about the line x=y
7< D. about the origin

Question ID : 9277594326

Ans

Q.11 If A = 3i+j+k ; B = 5i+j-k ; C = i+j-k then find the volume of parallelopiped if A,B,C are

sides of of parallelopipe respectively?

X A 16
 B.8
K C.0
X D.32

Question ID : 9277594331

Ans

Q.12 In what range does sec(x) become invertible?

2 A.R-{0}
XB.Z

X CR

& D.R-(-1,1)

Question ID : 9277594324

Ans

Q.13 The rank of a matrix in echleon form is equal to:

< A. order of matrix
< B. number of variables
25 C. number of zero rows of the matrix

4" D. Number of non zer0 rows of the matrix

Question ID : 9277594341

Ans

Q.14 What is domain of definition of exponential function?

< A. whole numbers
#< B.integers
#5 C. rational number

«" D. real numbers

Question ID : 9277594323

Ans

Q.15 How many subsets of set A occurs if A ={1,2,3,4}?

X A4
o B.16
X cC.2
X D.8

Question ID : 9277594338
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Q.16 Find the middle term of A.P. if it is given that sum of three numbers in A.P. is 15?
Ans X A.15

& B.5
X C.20
X D.10

Question ID : 9277594332

Q17 THT A ={e,f,g} W AT Tl B Fo TSI [T B2
Ans X A 128

& B.27

5 C.64

X D.34

Question ID : 9277594335

Q.18 Asymptotes are the tangents to the curve at which point?
Ans X A.one point

" B. infinity
25 C. three points
< D. two points

Question ID : 9277594325

Q.19 If discriminant D>0 then what can you say about nature of roots?
Ans X A.no real roots

«# B. distinct real roots
#< C. imaginary roots
#< D. equal roots

Question ID : 9277594334

Q.20 If the inner product between the vectors vanishes then what will be the angle between
them?

Ans X A.35

X B.45
o C. 90

X D.o

Question ID : 9277594329

Section : Discipline2
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Q.1 The solution of the curve given y=f(x), where y is the function of x ,also x and y are real
numbers and is termed as what?

Ans X A. functional curve
" B. solution curve
< C. bitsman curve

#< D. polynomial curve

Question ID : 9277594352 ]
Q.2 Any non-empty set of R which is bounded above has a ?
Ans X A.glb
" B.lub
< C. one exist infinitely
#5 D. both exists finitely
Question ID : 9277594344 ]

Q.3 Every bounded sequence with a unique limit point is ?

Ans  # A convergent
75 B. divergent
25 C. oscillatory
< D. doesn't exist

Question ID : 9277594346

Q.4 Change in number of individuals in population over time is called?
Ans X A. mortality rate

" B. Population growth rate
#< C. immigration rate

#< D. remainder rate

Question ID : 9277594356 ]

Q.5 The curve obtained in exponential growth is of which type?
Ans X A.S shaped curve

#< B. W shaped curve
25 C. T shaped curve
«" D. J shaped curve

Question ID : 9277594355 ]

Q.6 What is the limit point of the sequence <f>=1?
Ans X A.2

X B.0
< C. infinity
 D.1

Question ID : 9277594342 ]
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Q.7 Which of the following is used in mathematical modelling in Boolean algebra?

Ans X A. lines figure
#5 B. complex analysis
«# C. constructive solid geometry

25 D. mines geometry

Question ID : 9277594358

Q8 How many singular solutions occur for nt" order ordinary linear diffrential equation?
Ans X A. three

< B. two
5 C.one

«" D. no singular solutions

Question ID : 9277594353 ]

Q.9 Which model is the one in which every set of variable states is uniquely determined by
parameters in the model and by sets of previous states of these variables?

Ans X A. probability model
4” B. deterministic model
2 C. discrete model

#< D. continuous model

Question ID : 9277594360

Q.10 If a function f is from R to R and a be a point which is given convergent to us,then
what can we say about the sequence which is generated by its image i.e. f(a)?

Ans o A.itis bounded
25 B. it occurs finitely
< C.itis convergent
#< D. itis divergent

[ Question ID : 9277594347
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Q.11 Let f be a sequence of bounded function and series given by f is uniformly continous
to some function say g then

Ans ¢ A.gis bounded

5 B. g is infinite
25 C. g occurs virtually to follow 1
< D. g is unbounded

Question ID : 9277594350

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258021338/1258021338S3D123/16309041593591189/12120...

35/49



9/8/21, 4:10 PM

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258021338/1258021338S3D123/163090415...

Q.12 If cardinality of a set A is 6 and that of set B is 7 then find the Cardinality of AAB ?
Ans X A5

% B.35
X C.7

«” D. can not be determined

Question ID : 9277594345

Q.13 When the per capita rate of increase (r) takes the same positive value regardless of the
population size, then we get which growth?

Ans X A. both logistic and exponential
" B. exponential growth
#5 C. transversal growth

#5 D. logistics growth

Question ID : 9277594354

Q.14 Pick the wrong statement?
Ans X A. Any real Cauchy sequence is convergent

5 B. Any cauchy sequence is bounded.
25 C. Any convergent sequence is cauchy

" D. In real every bounded monotonic sequence is divergent

Question ID : 9277594348

Q.15 What condition is satisfied if sequence of functions f is said to be uniformly bounded?
Ans X A.f(x) converge to a finite point

" B. [f(x)|<=M for some constant M and for all values of x
25 C. f(x) converge to an infinite point

25 D. |f(x)|=M for some constant M

Question ID : 9277594351

Q.16 Find the limit of the function f(x,y)= x+y-6 at x=1;y=27?
Ans X A.3

& B.3
X C.4
X D.-4

Question ID : 9277594361
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Ans

XA y(x)=x/2
< B.y(x)=x
< C.y(x)=1
o D.y(x)=x%2

Q.17 The general solution of the equation y"(x)=0 with the initial value problem s.t. at x=0 ;
y=0 and y'=0 is?

Question ID : 9277594357

Ans

Q.18 The sum of the series n(Sin(n)) is

25 A. oscillates infinitely
«# B. divergent

< C. convergent

#5 D. oscillates finitely

Question ID : 9277594349

Ans

Q.19 The greatest limit point of a bounded sequence is called?

< A limit inferior of
#< B. minimum point of f
& C. limit superior of f

< D. maximum point of f

Question ID : 9277594343

Ans

Q.20 Which model accounts for time dependent change of a model?

< A. generalized model
< B. bi-model

25 C. static model

+" D. dynamic model

Question ID : 9277594359

Section : Discipline3

Ans

Q.1 Find curl (r) if r=2xyi+j+k.

X A0

X B.-2yk
o C.-2xk
X D.-2zk

Question ID : 9277594374
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Q.2 Which theorem is valid in calculating integral for a multiple connected domain R?
Ans X A. lterated integrals

#5 B. Stokes theorem
25 C. Gauss divergence theorem

«" D. Green's theorem

Question ID : 9277594377

Q.3 The functions which are present on one side of Green's theorem are of which kind?

Ans X A only partial derivatives
7< B. discrete derivatives
25 C. complete derivatives

4 D. Continuous partial derivative

Question ID : 9277594378

Q.4 Pick the correct statement?
Ans X A. Every monotonic increasing function f is not Riemann integrable

" B. Every continous function is Riemann integrable
#< C. If function is increasing in interval it is not increasing in each of its subinterval

#5 D. Every continous function is not Riemann integrable

Question ID : 9277594381

Q.5 The oscillation of a bounded function f on an interval [a,b]is the of the
set {|f(x)-f(y)|}of the numbers.

Ans 4 A supremum
< B. maximum
#< C.infimum

#< D. minimum

Question ID : 9277594379

Q.6 Letfand g be two uniformly continuous functions on interval | and also each function
is bounded on I, then what can you say about product f.g?

Ans X A.fgis continous
5 B.f.gis integrable
«# C. f.gis uniformly continous on R

< D. f.gis bounded

Question ID : 9277594367
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Q.7 When will be matrix of derivative of f given by f(x,y)=(x-y,xy) will be singular?
Ans X A.ifx=0

/5 B.ify=0
5 C.ifx=y
o D.ifx=-y

Question ID : 9277594371

Q.8 Ifyis expressed in terms of a variable x as y = f(x), then y is called what?

Ans X A. convergent function
" B. explicit function
25 C. divergent function
#< D. implicit function

Question ID : 9277594363

Q.9 How do we find volume of a solid surface?
Ans X A. By finding it's line integral

" B. By triple integrating it over the surface
#< C. By double integrating it

#5 D. By integrating over the surface

Question ID : 9277594376

for every partition P for every £>0; which of the following condition must occur?

Ans X A. Upper and lower sum vanishes
« B. |U(f,P)-L(f,P)|<e
25 C. |U(f,P)-L(f,P)|>¢
< D. |U(f,P)-L(f,P)|=¢

Q.10 The necessary and sufficient condition for a function f to be Riemann integrable is that

Question ID : 9277594380

Q.11 Which function defined on R by f(x)=x for every x in R, is continuous in R?
Ans X A.Riemann function

#< B. constant function
#5 C. dirichlet function

" D. identity function

Question ID : 9277594366

Q.12 If f(x,y)=0 then find the directional derivative at c=(0,0) along the direction u=(a,b)?
Ans A0

X B.2
X C.1
X D.3

Question ID : 9277594362

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258021338/1258021338S3D123/16309041593591189/12120...

39/49



9/8/21, 4:10 PM

Ans

Q.13 Find the simultaneous limit of function ySin(1/x)?

XA
X B.2
XcC.3
o D.0

Question ID : 9277594372

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258021338/1258021338S3D123/163090415...

Ans

Q.14 What is interval of Taylor's series expansion of tan(x)?

2 A.(0,90)

o« B. (-90,90)

25 C. infinite region
X D. (-mm)

Question ID : 9277594370

Q.15 While finding maximum value of a function what will we get in the case if it's second

derivative becomes zero?

Ans

« A. Bounded
< B. connvergent
25 C. divergent
#< D. unbounded

Ans  # A. we get possible inflection point
5 B. we get maxima at that point
25 C. we get minima at that point
< D. we get both maxima and minima
Question ID : 9277594373
Q.16 The sequence given by interval [0,1] is

Question ID : 9277594364

Ans

Q.17 Find the double integral of f(x,y,z) = (y+z)dx+(z+x)dy+(x+y)dz .

& A0
X B.-1
X C.1
X D.2

Question ID : 9277594375
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Q.18 Suppose that a is in the domain of the function f such that, for all x in the domain of f:

f(x) < f(a)
Ans X A fis unbounded
#5 B. f has both maximum and minimum values at x= a
" C. fis said to have maximum value at x=a

#< D. fis said to have minimum value at x=a

Question ID : 9277594365

Q.19 Which of the following is not the application of Taylor's series?

Ans X A.ltis used in optimization techniques
" B. It fails to solve power flow analysis
#5< C. Itis used to find value of whole function

< D. It reduces mathematical proofs

Question ID : 9277594369

Q.20 Which condition is not required in checking for Taylor's theorem?

Ans X A lt's (n-1)th derivative is continuous on [a,b]
< B. there exists a real number between a and b
4# C. fis necessarily bounded

< D. It's (n-1)th derivative is derivable on (a,b)

Question ID : 9277594368

Section : Discipline4

Q.1 Every absolutely convergent.improper integral is
Ans

«" A. convergent
< B. infinite

25 C. divergent
#< D. oscillatory

Question ID : 9277594382

Q.2 If we are given two overlapping sets A and B in metric space then what can we say
about d(A,B)?

25 A, infinity
25 B. doesn't exist

Ans

« C. zero
< D. finite

Question ID : 9277594390
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Q3 ARS W A FH A1 G g e g 82
Ans X A 3Rdd (fewpie) wad

o B. Q0 B

X C.gad wad

< D. UReg e

Question ID : 9277594394

Q.4 Every uniformly continuous function on an interval is on that
interval.

Ans X A. divergent
" B. continuous
5 C. oscillatory
< D. convergent

Question ID : 9277594385

Q.5 If a group G is internal Direct product of its subgroups A,B,C.,....Z then G is isomorphic
to .

Ans X A.itis not isomorphic
< B. internal Direct product of A,B,C...Z
" C. external direct product of A, B, C...Z
X D.ABC,.Z

Question ID : 9277594401

Q.6 Which of the following metric space is not complete?
Ans X A. set of irrationals

75 B. set of complex numbers
< C. set of real numbers

" D. set of rationals

Question ID : 9277594396

Q.7 The expansion of power series having R as the radius of convergence and x,a be any
two points in R, converges if

Ans o A |x-al<R
< B. |[x-al>R
5 C. nowhere convergent

25 D. |x-al=R

Question ID : 9277594387
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Q.8 Every element of a group G when expressed as internal Direct product of a,b,c,...z if
and only of every element is uniquely expressed as ?

Ans X A G=a-b-c..-z
«" B.G=ab.c..z
< C. G=a+b+c+...+z
5 D. G=a+b-c...z

Question ID : 9277594400 ]
Q.9 Which statement states that "Every complete metric space is of second category"”?
Ans  «# A. Baire category theorem
#< B. Baire sandwich theorem
#< C. Cantor Theorem
#5< D. Fundamental theorem
Question ID : 9277594393 ]

Q.10 Inner automorphism corresponding to every element of an abelian group is?
Ans X A.bounded

«" B. trivial
25 C. non trivial
< D. infinite

Question ID : 9277594398

Q.11 Let (X,d) be a metric space and let B be a subset of X then if B is closed then B is also

Ans X A.compact
«" B. complete
#< C. bounded
5 D. unbounded

Question ID : 9277594397 ]
Q.12 Let (X,d) be a metric space and Pn be the Cauchy sequence defined then {Pn} is
Ans  # A. convergent
< B. bounded
< C. divergent
< D. cauchy
Question ID : 9277594391 ]
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Q.13 If f is the derivative of some function on [a,b],then there exists a number c in (a,b) such
that Integral of f with respect to x= .

Ans X A. (b+a-c)f(c)
X B.f(c).(b+a)
« C. f(c).(b-a)
X D.f(c)

Question ID : 9277594383 ]

Q.14 Let (X,d) be a metric space then what can you say about X and d?
Ans X A. Xis called metric and d is called ground set

«” B. d is called metric and X is called ground set
< C. both are called ground sets

#5 D. d s called metric but can't say about X

Question ID : 9277594389 ]

Q.15 A group is called abelian if it satisfies property.
Ans X A. associative property

«# B. commutative property
25 C. existence of inverse

< D. existence of identity

Question ID : 9277594399

Q.16 If =<1/n> ,then what can you say about monotonic nature of f?
Ans X A. monotonic

#< B. monotonically increasing
< C. both increasing and decreasing

" D. monotonically decreasing

Question ID : 9277594386 ]

Q.17 Find the limit point of the sequence <1,2,1/2,3,1/3.....>
Ans # AD

X B.2
X C.1
X D.3

Question ID : 9277594384 ]

Q.18 What powers of x does expansion of sin(x) contains?
Ans  # A. odd powers of x

< B. even powers of x
< C. all powers of x

25 D. any alternate powers of x

Question ID : 9277594388 ]

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258021338/1258021338S3D123/16309041593591189/12120...  44/49



9/8/21, 4:10 PM https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258021338/1258021338S3D123/163090415...

Q.19 Let (X,d) be a metric space and E is contained in X, E is called nowhere dense set if

Ans X A. closure of E terminate after some steps
¥ B. closure of E is empty
< C. closure of E is not defined
#< D. closure of E is finite

Question ID : 9277594392 ]
Q.20 If f is a continuous function from X to Y, then this property is called ?
Ans X A. distance variant
#< B. completeness of metric space
#< C. continous variant
" D. continuous invariant
Question ID : 9277594395 ]
Section : Discipline5
Q.1 Name the smallest non cyclic group.
Ans X A. g8
" B. k4
< C. abelian group of p order
#5 D. Matrix group
Question ID : 9277594403 ]

Q.2 Which theorem states that" An integral function attains every finite value with atmost
one possible exception?

Ans  # A. Picard's theorem
< B. Jensen's formula
25 C. Schwartz' lemma

25 D. Jensen's inequality

Question ID : 9277594410 ]
Q.3 Let k be the number of the p-ssg of a finite group G. Then
Ans  # A kdivides O(G)
#< B. k bipolarates
#5 C. k doesn't exist
< D. k doesn't divide O(G)
Question ID : 9277594407 ]
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Q.4 Multiply (12 3) and (56 4 1)?
Ans X A (1234586)

X B.(234567)
o C.(156423)
X D.(363738)

Question ID : 9277594405

Q.5 What is order of convergence of coshvz?
Ans X A one

< B.two

< C.o0
" D. infinite

Question ID : 9277594411

Q.6 Does C-R equations are necessary and sufficient for a function to be analytic?
Ans X A TRUE

« B. FALSE
#< C. depend on range of functions

Z5< D. can't say about nature of equations

Question ID : 9277594409

Q.7 The external direct product of two cyclic groups is

Ans X A. always cyclic
#5 B. abelian
25 C. never cyclic
# D. need not cyclic

Question ID : 9277594402

Q.8 If f(z) is analytic function whose real part is constant then f(z) is

Ans X A. Function of y only
< B. Function of x only
4" C. constant
#< D. Function of x and y both

Question ID : 9277594408

Q.9 What are no. of elements of order 100 of Z(200)?
Ans o A 40

2 B.120

X C.80
7< D. 160

Question ID : 9277594404
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Q.10 Which of the following group is not normal under usual ring operation?
Ans X A.7 ssg

o B.2ssg
25 C.5ssg
25 D.3ssg

Question ID : 9277594406

Section : Teaching Methodology

Q1 faemsTaga_ fawfia s g afgu
Ans X A YIS, Afdd SR AeHifaS Jed|

X B. ISHIfa® $R sienfas qw|

% C. e, Terifaes SR wmifie gea

& D. I, Afde SR sianfdrs el

Question ID : 9277594415

Q.2 Which kind of family allows a woman to marry more than one man?
Ans X A. Monogamous family

" B. Polyandrous family
< C. Extended family

#5 D. Polygynous family

Question ID : 9277594416

Q.3 fRyeror ¥ w=f ugfa &1 wr U 82
Ans X A f3ERE darg

X B. 910 I& BT

X C. 3T & feha Bl

o D. Fifdd i &1 titied e

Question ID : 9277594412

Lok

Ans X A Yol g4
X B.Tfasefeg (prexcfes d4)
X C. Tergfd
o D. T I

Q4 TR T AT F & § T 14T 8, o wrre o Tu=f, Y 3R =R e Wi

Question ID : 9277594421
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Q.5 fmfifaa vorifoa & @ w19 W@ oy &1 v s &) {1 gE & ufd siee $3
¥ forg 1Y foran < e 8 o uRumraey dftre Jarar &1 efdeio fawfa ghm?
Ans X A STHBUTST T fa=ewor
X B. YR Y Uh A Sficdrs! o1 fazamm
& C. TS fazeyor
X D. ftre fa=eiwor

Question ID : 9277594417

Q.6 wra &1 R Rigia W & 1 wvl & 38R T grar 82
Ans X A IRAHROT

X B. IS (3[BTHSIA)

o C. 3TheH

2 D. 3THITHRT

Question ID : 9277594420 ]

Q.7 e fafta sraurRomal & ot e S & HILIH A AT Hd § S
SEYRUMSH 3N foar) & 99 & Jaui & Wy wu 4 fafyd s34 g1

Ans A THeuAT gHHA
X B. ey UTh
X C. 3@YRUN A
X D. &HeT 3R

Question ID : 9277594414

Q.8 Which one is correct Objective of teaching English?
Ans X A. Develop knowledge

4" B. Literacy development
25 C. Develop the ability of appreciation of ideas
#< D. Develop self-study habit

Question ID : 9277594418 ]

Q.9 UTIYIS UISTHH PI T BT 82
Ans g A T e e

< B. Rigm o=t

< C. MDR

X D. faenaa &1 R

Question ID : 9277594413
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Ans

Q.10 Which of the following skill is a sociological term relating to a person's "EQ"?

< A. Social skills
5 B. People skills
25 C. Hard skills
« D. Soft skills

Question ID : 9277594419
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